
Tabela robót ziemnych ulica Brzozowa  
Powierzchnia Średnia 

powierzchnia 
Objętość Nadmiar 

objętości 
Suma 

algebraiczna 
KilometraŜ 

W N W N 

Odległość 
między 

przekrojami W N 

ZuŜycie 
na 

miejscu W N W N 
m m² m² m² m² m m³ m³ m³ M³ m³ m³ m³ 
1 2 3 4 5 6 7 8 9 10 11 12 13 

   A B C D E 2,92 2,68 0,00 0 0 
1,86 0,06 6,08 11,31 0,36 0,36 10,95 0,0 

9,00 1,04 0,11 10,95 0,0 
1,07 0,10 0,38 0,41 0,04 0,04 0,37 0,0 

9,38 1,10 0,09 11,32 0,0 
1,10 0,09 6,72 7,39 0,60 0,60 6,79 0,0 

16,10 1,10 0,09 18,11 0,0 
1,17 0,07 6,72 7,86 0,47 0,47 7,39 0,0 

22,82 1,23 0,05 25,50 0,0 
1,23 0,05 12,28 15,10 0,61 0,61 14,49 0,0 

35,10 1,23 0,05 39,99 0,0 
1,32 0,03 43,60 57,55 1,31 1,31 56,24 0,0 

78,70 1,40 0,00 96,23 0,0 
1,28 0,02 27,77 35,55 0,56 0,56 34,99 0,0 

106,47 1,15 0,04 131,22 0,0 
1,21 0,03 8,83 10,68 0,26 0,26 10,42 0,0 

115,30 1,26 
 

0,01 141,64 0,0 
1,08 0,07 8,83 9,54 0,62 0,62 8,92 0,0 

124,13 0,89 0,13 150,56 0,0 
0,79 0,17 7,82 6,18 1,33 1,33 4,85 0,0 

131,95 0,69 0,20 155,41 0,0 
0,85 0,15 20,60 17,51 3,09 3,09 14,42 0,0 

152,55 1,00 0,09 169,83 0,0 
0,95 0,11 10,55 10,02 1,16 1,16 8,86 0,0 

163,10 0,89 0,13 178,69 0,0 
1,02 0,09 10,55 10,76 0,95 0,95 9,81 0,0 

173,65 1,15 0,04 188,50 0,0 
1,34 0,02 51,60 69,14 1,03 1,03 68,11 0,0 

225,25 1,53 0,00 256,61 0,0 
1,34 0,02 89,95 120,53 1,80 1,80 118,73 0,0 

315,20 1,15 0,04 375,34 0,0 
1,17 0,09 13,65 15,97 1,23 1,23 14,74 0,0 

328,85 1,19 0,14 390,08 0,0 
1,20 0,08 13,65 16,38 1,09 1,09 15,29 0,0 

342,50 1,20 0,01 405,37 0,0 
1,29 0,01 14,90 19,22 0,15 0,15 19,07 0,0 

357,40 1,37 0,00 424,44 0,0 
1,53 0,00 23,55 36.03 0,00 0,00 36,03 0,0 

380,95 1,68 0,00 460,47 0,0 
1,50 0,00 23,50 35,25 0,00 0,00 35,25 0,0 

404,45 1,31 0,00 495,72 0,0 
1,21 0,00 32,49 39,31 0,00 0,00 39,31 0,0 

436,94 1,10 0,00 
 

535,03 
 

0,0 

 
SUMA 551,70 16,66 16,66 535,03 0,0 

 
 

 
 A B C D E 

                                                                                         SPRAWDZENIE : 
A - B = D - E = 535,03 
A – D = B –E = 16,66 

A - D = C = 16,66 
B – E = C = 16,66 


